Day 7: 7.1- Solving Exponential Equations

Warm Up: simplify the following using logarithm laws. State any restrictions if necessary.
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EX 1 - Solve for x. Identify and reject any extraneous roots.
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To solve any growth or decay word problems, use the following equation: A=A (1£r)
Where..

A represents final amount
(+) represents growth

r represents growth rate

Ay represents initial amount

(-) represents decay
n represents number of growth/decay periods

1\
* Half -life: A=A, (Ej where h represents half life

t
* Doubling time: A=A (2)3 where d represents doubling time

EX 2 - Half-life is the time taken for a radioactive substance to decay to half of its initial amount.
A 50-mg sample of radioactive iodine decays to 23 mg after 12 minutes. Determine the half-life of
radioactive iodine.
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